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NIz K £ NET HDCP TOTAL ouT IN OUT NET Iz K 4 NET HDCP TOTAL ouUT IN OUT NET

BB LA=E 590 140 73 ( 37 3 ) 300 BB Ek—x 600  26.0 86 (44 42 ) 310
20 HAM EE 630 210 84 (43 41 ) 325 200 KK BEE 650 230 88 ( 44 44 ) 325
3k EHM AIE 640 170 81 ( 44 37 ) 355 3k AL 650 180 83 (43 40 ) 340
A A EE 66.0 170 83 (41 42 ) 325 = 650 200 85 ( 45 40 ) 350
B B =i 66.0  17.0 83 (41 42 ) 325 bR xEE #8A 66.0  13.0 79 (39 40 ) 325
6hy LB EF 66.0 40 70 ( 35 35 ) 330 6y M@ 15 660 240 90 ( 45 45 ) 330
Th R B 70.0 6.0 76 ( 39 37 ) 360 Th E@EXE 660 300 96 ( 48 48 ) 330
8 AL EZ 710 120 83 (39 44 ) 330 8hr B N— 660 190 85 ( 43 42 ) 335
Ohr  E& AhE 71.0 8.0 79 (40 39 ) 360 o HH B 66.0 230 89 ( 45 44 ) 335
106 Al HBE 740 160 90 (45 45 ) 370 100 &% Eh 67.0  19.0 86 (41 45 ) 315
Th  #M B& 740 200 94 (48 46 ) 380 h  IWF &E 670 190 86 ( 41 45 ) 315
1260 HE EH 740 290 103 ( 53 50 ) 385 1206 F#HE #R 67.0 120 79 (38 41 ) 320
13k A EE 750 150 90 (44 46 ) 365 136  #E % 670 280 95 (47 48 ) 330
140 ME %E 750 180 93 (47 46 ) 380 140 BB BT 67.0 190 86 ( 43 43 ) 335
150 # $i= 750 240 99 (55 44 ) 430 150 LA JEF 670 180 85 (43 42 ) 340
166 £&% &®A 760 110 87 ( 44 43 ) 385 160 SA Eft 670 160 83 (43 40 ) 350
176 K& 760 110 87 ( 44 43 ) 385 176 %@ % 670 230 90 ( 47 43 ) 355
1801 I Hus 760 190 95 (49 46 ) 395 180 B K— 680 120 80 ( 40 40 ) 340
190 bR fEf 760 120 88 (46 42 ) 400 190 #E $h— 680 180 86 (44 42 ) 350
204 EEHk BB= 770 120 89 (42 47 ) 360 206 14k B 69.0 130 82 (40 42 ) 335
256 Lk BE 780 130 91 (46 45 ) 395 254  FRiE E= 700 140 84 (39 45 ) 320
304 (LM 81E 79.0 5.0 84 (43 41 ) 405 306 E EE 710 100 81 ( 38 43 ) 330
35 BR E4 820 150 97 (51 46 ) 435 354  ffE EM 710 120 83 ( 43 40 ) 370
400 el EB— 840 230 107 ( 58 49 ) 465 4067 Pk B 720 100 82 ( 42 40 ) 370
4547  BR #i 90.0  30.0 120 (59 61 ) 440 4507  FEE Buid 730 130 86 (45 41 ) 385
50 BEA mE 740 200 94 (47 47 ) 370
60 IR E= 770 260 103 ( 55 48 ) 420
BBY BA FIE 90.0  30.0 120 (60 60 ) 450 BBE kM K 780 250 103 (53 50 ) 405
BGE L% %F 70 ( 35 35 ) Par 72 I—AL—t  ZRE=TL—t

B (EF) 6606 yard 71.3 128

BEH(E) 6237  yard 69.5 123

B (&) 5892  vyard 68.1 119

BEM(HK) 5281  yard 64.9 114

“H(R) 5281 vyard 70.1 123

) 5185  yard 69.5 123




